Diamon Knit Sitch |

%

Cast on 54 stitches + 2 selv sts and work according to chart.

RS rows and WS rows are shown.

Read RS rows from right to left, WS rows from left to right.

RS rows and WS rows are shown with RS of work facing.

The patrep = 26 sts.

Begin with 1 selv st and sts before patt rep, work patt rep throughout, end with sts after patt and 1
selv st.

Repeat Rows 1- 36 throughout.

Row 1 (rs): p2, yo, skp, p2, k4, p1, 21rpc, k1, 21lpc, p1, k4, p2, k2tog, yo, p1, yo, skp, p2, k4, p1,
21rpc, k1, 21Ipc, p1, k4, p2, k2tog, yo, p1
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Row 2 (ws): k1, p2, k2, p4, k1, p2, k3, p2, k1, p4, k2, p2, k1, p2, k2, p4, k1, p2, k3, p2, k1, p4, k2,
p2, k2

Row 3 (rs): p2, k2tog, yo, p2, k4, 21rpc, k3, 21lpc, k4, p2, yo, skp, p1, k2tog, yo, p2, k4, 21rpc, k3,
21lpc, k4, p2, yo, skp, p1

Row 4 (ws): k1, p2, k2, p6, k5, p6, k2, p2, k1, p2, k2, p6, k5, p6, k2, p2, k2

Row 5 (rs): p2, yo, skp, p2, k3, 21rpc, k5, 21Ipc, k3, p2, k2tog, yo, p1, yo, skp, p2, k3, 21rpc, k5,
21lpc, k3, p2, k2tog, yo, p1

Row 6 (ws): k1, p2, k2, p5, k7, p5, k2, p2, k1, p2, k2, p5, k7, p5, k2, p2, k2

Row 7 (rs): p2, k2tog, yo, p2, k2, 21rpc, k7, 21lpc, k2, p2, yo, skp, p1, k2tog, yo, p2, k2, 21rpc, k7,
21lpc, k2, p2, yo, skp, p1

Row 8 (ws): k1, p2, k2, p4, k9, p4, k2, p2, k1, p2, k2, p4, k9, p4, k2, p2, k2

Row 9 (rs): p2, yo, skp, p2, c4f, k9, c4b, p2, k2tog, yo, p1, yo, skp, p2, c4f, k9, c4b, p2, k2tog, yo, p1
Row 10 (ws): k1, p2, k2, p4, k9, p4, k2, p2, k1, p2, k2, p4, k9, p4, k2, p2, k2

Row 11 (rs): p2, k2tog, yo, p2, k2, 21Ic, k7, 21rc, k2, p2, yo, skp, p1, k2tog, yo, p2, k2, 21Ic, K7,
21rc, k2, p2, yo, skp, p1

Row 12 (ws): k1, p2, k2, p5, k7, p5, k2, p2, k1, p2, k2, p5, k7, p5, k2, p2, k2

Row 13 (rs): p2, yo, skp, p2, k3, 21lc, k5, 21rc, k3, p2, k2tog, yo, p1, yo, skp, p2, k3, 21lc, k5, 21rc,
k3, p2, k2tog, yo, p1

Row 14 (ws): k1, p2, k2, p6, k5, p6, k2, p2, k1, p2, k2, p6, k5, p6, k2, p2, k2

Row 15 (rs): p2, k2tog, yo, p2, k4, 21lpc, k3, 21rpc, k4, p2, yo, skp, p1, k2tog, yo, p2, k4, 21lpc, k3,
21rpc, k4, p2, yo, skp, p1

Row 16 (ws): k1, p2, k2, p4, k1, p2, k3, p2, k1, p4, k2, p2, k1, p2, k2, p4, k1, p2, k3, p2, k1, p4, k2,
p2, k2

Row 17 (rs): p2, yo, skp, p2, k4, p1, 21lpc, k1, 21rpc, p1, k4, p2, k2tog, yo, p1, yo, skp, p2, k4, p1,
21lpc, k1, 21rpc, p1, k4, p2, k2tog, yo, p1

Row 18 (ws): k1, p2, k2, p4, k2, p2, k1, p2, k2, p4, k2, p2, k1, p2, k2, p4, k2, p2, k1, p2, k2, p4, k2,
p2, k2

Row 19 (rs): p1, k1, 21lpc, p1, k4, p2, k2tog, yo, p1, yo, skp, p2, k4, p1, 21rpc, k1, 21lpc, p1, k4, p2,
k2tog, yo, p1, yo, skp, p2, k4, p1, 21rpc, k1

Row 20 (ws): k2, p2, k1, p4, k2, p2, k1, p2, k2, p4, k1, p2, k3, p2, k1, p4, k2, p2, k1, p2, k2, p4, k1,
p2, k3

Row 21 (rs): p1, k2, 21lpc, k4, p2, yo, skp, p1, k2tog, yo, p2, k4, 21rpc, k3, 21Ipc, k4, p2, yo, skp,
p1, k2tog, yo, p2, k4, 21rpc, k2

Row 22 (ws): k3, p6, k2, p2, k1, p2, k2, p6, k5, p6, k2, p2, k1, p2, k2, p6, k4

Row 23 (rs): p1, k3, 21lpc, k3, p2, k2tog, yo, p1, yo, skp, p2, k3, 21rpc, k5, 21lpc, k3, p2, k2tog, yo,
p1, yo, skp, p2, k3, 21rpc, k3

Row 24 (ws): k4, p5, k2, p2, k1, p2, k2, p5, k7, p5, k2, p2, k1, p2, k2, p5, k5

Row 25 (rs): p1, k4, 21lpc, k2, p2, yo, skp, p1, k2tog, yo, p2, k2, 21rpc, k7, 21lpc, k2, p2, yo, skp,
p1, k2tog, yo, p2, k2, 21rpc, k4

Row 26 (ws): k5, p4, k2, p2, k1, p2, k2, p4, k9, p4, k2, p2, k1, p2, k2, p4, k6

Row 27 (rs): p1, k5, c4b, p2, k2tog, yo, p1, yo, skp, p2, c4f, k9, c4b, p2, k2tog, yo, p1, yo, skp, p2,
caf, k5

Row 28 (ws): k5, p4, k2, p2, k1, p2, k2, p4, k9, p4, k2, p2, k1, p2, k2, p4, k6

Row 29 (rs): p1, k4, 21rc, k2, p2, yo, skp, p1, k2tog, yo, p2, k2, 21lc, k7, 21rc, k2, p2, yo, skp, p1,
k2tog, yo, p2, k2, 21Ic, k4

Row 30 (ws): k4, p5, k2, p2, k1, p2, k2, p5, k7, p5, k2, p2, k1, p2, k2, p5, kb

Row 31 (rs): p1, k3, 21rc, k3, p2, k2tog, yo, p1, yo, skp, p2, k3, 21lc, k5, 21rc, k3, p2, k2tog, yo, p1,
yo, skp, p2, k3, 21lc, k3

Row 32 (ws): k3, p6, k2, p2, k1, p2, k2, p6, k5, p6, k2, p2, k1, p2, k2, p6, k4
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Row 33 (rs): p1, k2, 21rpc, k4, p2, yo, skp, p1, k2tog, yo, p2, k4, 21lpc, k3, 21rpc, k4, p2, yo, skp,

p1, k2tog, yo, p2, k4, 21Ipc, k2

Row 34 (ws): k2, p2, k1, p4, k2, p2, k1, p2, k2, p4, k1, p2, k3, p2, k1, p4, k2, p2, k1, p2, k2, p4, k1,

p2, k3

Row 35 (rs): p1, k1, 21rpc, p1, k4, p2, k2tog, yo, p1, yo, skp, p2, k4, p1, 21lpc, k1, 21rpc, p1, k4,
p2, k2tog, yo, p1, yo, skp, p2, k4, p1, 21Ipc, k1
Row 36 (ws): k1, p2, k2, p4, k2, p2, k1, p2, k2, p4, k2, p2, k1, p2, k2, p4, k2, p2, k1, p2, k2, p4, k2,

p2, k2
Chart
Key
h “ 211 Left Cross I Krik
21l k
[R5 5l 2 ko frank, k1, k2 From cn [R5} Knit
(WS) 5| 2 ko back, p1, pZ fram cn (W] Purl
m /1 LPC 2 knit 2 Together
Zllpc kZtog

(R31 5l 2 bo cn, hold to Fronk, p; k2 from cn
W3 51 1 ko Fronk, p2, ki, From cn

([R5} Knit 2 stitches together
W3 Purl 2 Together

211 Right: Cross
V A 21rc

(RS} 3l 1 to back, k2, ki from cn
(Ws) 5l 1 ko fronk, p2, pl from cn

Purl
p

(RS Purl
(W) Knit

2/1 RPC
2lrpc

(R31 5l 1 ta cn, hold to back, k2; pl Fraom cn
(WS) 3l 2 ko back, k1, pZ, from cn

NG
skp

[R5} 5lip 1, knit 1, pass slipped skitch owver
(W] Purl 2 Together Thru back loop

Cable 4 Back.
cdh

(R3)5l 2 bo back, k2, k2 sts From cn
(W'S) 5l 2 ko Fronk, p2, p2 sts From cn

Zable 4 Fronk
cdf

(RS) 5l 2 bo Front, k2, k 2 sks from cn
(WS) 3| 2 ko back, pZ, p 2 sts From cn

.I Yarn Ower
]

([R5} Yarn Crver
(WS Yarn Owver
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